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1. SR SMERT W% Beq AR SRiear/Oes fimr ;. 1x8=8

Choose the correct answer/ Answer the
following questions :

(a) SREITS TR o R e 2
What do you mean by scarcity in
economics?

(b) T SRR QA @4 GERR T

The slope of a perfectly elastic supply
curve is

() SIERe

horizontal
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(2)
(i) SHAFE
vertical
(i) SR
upward

(iv) 83 «Bre T
None of the above
) P Queg _ oiRe dfsssm w9
8@ fEeRe | .
(TPEF / TV / i)

Indifference curve analysis is based on
marginal rate of substitution.
( diminishing / increasing / constant )

(d) Terer kg =y R
Give the meaning of consumer surplus.
| (e) oRT IW (A2 TG I (X IR (T T IS
| TS I IO

Marginal cost curve intersects average
cost curve, when average cost curve is

() TR =
upward sloping
@) =
downward sloping
(i) =
minimum
(iv) =y
maximum
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(3)

(N av 2AfeER =S iR 27, @fem

Profit for a firm is maximum, when
) MR>MC

(i) MR < MC

(i) MR = MC

(v MR=MC=0

(g) e T5Rka z@ zm =, ¥R @

When the wage rate decreases, the
supply of labour

@ 3 om
increases
(i) I AW
decreases
(i) &I U
remains constant
(iv) €°R_T @8 T

None of the above

(n) eAfaieEE &R &2

What is competitive market?
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(4)

2. o[ R @A R6R e/Re Y R forar (A
150 %R S=%e) : 4x4=16

Write short notes on any four of the following
(within 150 words each) : '

(@) TF "R

Free market

(b) TeeGR AR

Consumer’s surplus

(c) TOTSIGR I "R
Consumer’s optimum choice

(d) ZTFFAN I|

Short-run cost

(e) uRFR 2AfEF BTl
Marginal productivity of labour

@oTd LEPTIRR BT o (2T 500 *Rm feewe) -

Answer the following questions (within 500 words
each) :

3. (a) IR wfRea Reaeg I 0 | 11

Explain the subject-matter of micro-
economics.
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(S5)

<t/ Or

(b) oS MAIRT S°[TS BIFl IS 41 - 5+6=11
Write notes on the following :
i) TS W
Scarcity and choice

(i) SRS Wi taFBPTR

Features of economic models

4. (a) ITR SIFWOR SRS GIRA SF @9 ARTE]
SR SR o TS 31 F47 | 11
Explain with the help of suitable
diagrams the impact of change in
demand and supply on market
equilibrium.

9T/ Or

(b) Seomed AR e B e Ve aRw
YrRCH1 oS fous e 3ofan 3/ | 2+9=11
What do you mean by producer’s
surplus? Explain the concept of
producer’s surplus with the help of
suitable diagram.

5. (a) FRrF RIR IS TSIER SR W
91| 11
Explain consumer’s equilibrium with the
help of indifference curve.
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(6)

w4/ Or

(b) (19 T TR T 1A PRI+ 11

Explain the choice between leisure and
consumption with the help of diagram.

6. (o) TS RP o AT RE = = & o2
#RF Seom I@ AT RE o T oA
sz [ Teoma AfPH w TR Sewel
TS FI? 2+10=12
What do you mean by average revenue
and marginal revenue? Why does a firm
attain equilibrium when its marginal
cost equals the marginal revenue?

o2qr/ Or

(b) ‘AR T T QAT I TRAA
o1 IR (I SRIT T 17 AP 340 1 12
“Long-run average cost curve is the

envelope of various short-run average
cost curves.” Explain.

7. (o) Tems oS wRw R iR ofte
TeoqmAeTe! YRG! foas TS 34T 441 |
2+9=11
What is the demand for input? Explain

the concept of marginal productivity of
labour with the help of diagram.
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(7)

T/ Or

(b) @ B RIS SeoANT JIGIFIA ARBH
@R B (F A 4 | 11
Derive the demand curve of a firm for
one variable input.

%* % %k
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